
Solve the fraction problems.

How many people are eating hot dogs?

÷             =

2. There are 18 dishes on the menu, and       of them have beef.
How many dishes on the menu have beef in them?

1
2

of  6  = 

1
3

÷               = 1
3

of  18  = 

3. There are 4 people at a table, and      are eating pizza.
    What is the number of people eating pizza? 

   ÷                =

4. There are 15 people at the big table, and only      of them are women.
How many women are at the big table ?

1
4

of  4 = 

1
5

   ÷ = 1
5

of  15  = 

1
6

of  12  = 

5. One table has 12 people, and      are kids. How many of them are kids?

÷                =

1
6

1
4

1
1. There are 6 people at a table, and       ar2 e eating hot dogs.
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